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Through scientific analysis, we can help you 
answer pertinent questions such as: 
 

•  Are the alleged injuries consistent 
with the evidence?  

•  Was the driver/passenger wearing a 
seatbelt? 

•  Would the use of a seatbelt or airbag 
deployment have prevented or 
reduced the occupant’s injuries?
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Two Car Collision: 
 

Two cars collided at an intersection 
because one driver was inattentive while 
crossing the intersection at high speed.  Her 
vehicle collided with the side of the other 
vehicle and she was injured even though 
her airbag deployed.  She later admitted 
that she was not wearing her seatbelt, but 
was still seeking compensation for her
injuries.  We reconstructed the accident and 
determined that if she had been wearing a 
seatbelt, she would not have been seriously 
injured.   


